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3l & fare arsiger /instructions to the Candidates

1. HI9F ZART 99 3desT & JEdd U 910 Sia-A1geT 3T & HUR ) 3 fAf@a oden & A

AT fora o &) afe et 3w & R} e iy e afafte r § ar fsre & sen snfie
W vt v ¥ S ey snsfiier sehgT w7 & ST
You have been called for the written test based on the online data furnished by you in the web application.

If you have wrongly entered in the web any information or you do not possess the required
qualification as per our advertisement, your candidature will be rejected.

2. 99, 80 TAT F ercT WeA-GRAeRT & ST AR I vl A afer 90 =

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is
80 minutes.

3. IR fasel afgd avdfate g & we gt fowet @ % ve 3few w9 & a8 g

The questions will be objective type with four options out of which only one will be unambiguously correct.

4, vedF 9T F AT 01 3 g 3R ucds I1ad 3ca F AT 0.33 3% Frer e,
Each question carries 01 mark and 0.33 marks will be deducted for each wrong answer.

FIIT AW 55 SW/P.T.O.



10.

11.

12.

13.

14,

15.

e & Seek & o fAIT e faafda ufar afgd 3T HTANR Scar-qReas & snuaf|
A separate OMR answer sheet with carbon coated copy will be provided to mark the answer oplions.
3T #ATC/RTE FATE & dleT UISE O § HTHAIR Jec- TR # Felerd i o1 3ifhet wy uy
I BT TTA FAT R |

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen.

T §27 & fT A Il & W ITeAd Sccid AT=AT SITeaT |

Multiple answers for a question will be regarded as wrong answer.

FR g Fi # AR TRA-IRETH & FIs F] HUANK Ica-9Fge d Be aw wumr w1 e
=fav|

Question_booklet code printed on the top right corner should be written in the OMR_answer sheet in the
space provided.

TG EaehT # 3T ATH AT HeHATH el o |

Enter your Name and Roll Number correctly in the question booklet.

HTAHR FeeR-qiFasr & g sfaffear drefl/are g & afe wgeda 4 @ & s @iz

All entries in the OMR answer sheet should be with blue/black balt point pen only.

Ter grer 3 fAdieress Hr Uty 37 §r 3maer gier-Reve W geana a1 TR

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

farfera wham Toe aret #ia ¥ ey YT, FAFA, AT B TAT He FFeiiova WHTT, TeT-
T, Al TR oY Y Syt 78t &Y st

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not
be allowed inside the written test hall.

glien qof Bl WY, MUAIR Icax-gifasr # 3w & e frd @ o iR Ho MR
Soa-9iEde fadaren s @i g g@dl afd 3o ar W |

On_completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over
the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

eA-qf T 3t 319e 9TH 7@ whd E
The question booklet can be retained by the candidates.

qreTT & A e & RIeT ea i et T oige i Al e 8|

Candidates are not permitted to leave the examination hall during the first hour of the examination
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6.

daARaa-§ - dxfoaw Ay ARFa/AFTF AT / Technician-B — Mechanic Motor

Vehicle/Mechanic Diesel

HieAEger & BT # g7 ged S I & FIYAEH H GeIA §, ——————— FE Bl
The component in the radiator of an automobile that increases the boiling point of water s
(a) «Tell TofdT/ Drain plug (b) qHEET / Thermostat

{c) '37:!-'&1‘31 gred / Vacuum valve (d) E&/9 FY9/ Pressure cap

TdfEe arfas | (CNG) & GHIeT 3T agdn $r @ F

The equivalent octane number of compressed natural gas (CNG) is in the range of

(a) 90-95 (b) 100-105

(¢) 110-115 (d) 120-130

afy gorer e goreT JitaeT 3 e @ AT B, A o AT —— |

If the engine coolant leaks into the engine oil, then engine oil

(a) E{jﬁ'ﬂT fe@g 2ar &/ Appears milky (b) FHER & AT / Becomes foamy
(¢) T & AT &/ Turns black (d) ¥ g AT g/ Turns grey

1 freiard gegAT g fRdr U & 8fas @ 60 B & ot W 10 #Aey/dFs & a1 §
e T 3HF Iedad fdg w xS waer F24r g g7

What is the linear momentum of a body having mass of 1 kg at its highest point, when thrown
with a velocity of 10 m/s at an angle of 60 degree with the horizontal?

(a) 10 fram-#r./8 / Kg-m/s (b) 8 fhar-+r/a / Kg-m/s
() 5 Fram-Ar/A/ Kg-m/s (d) 60 fRam-3 /8 / kg-m/s

FR T VRIT H FX F 3o & 0T FH 9FR & 3TH07 F 394917 1 Frar 82
Which type of equipment is used in a car service station to lift the car?

(a) grSgifele® %9/ Hydraulic press (b) g% 87/ Hydraulic hoist
(c) 613311:5#3? 3% / Hydraulic jack (d) 3T %W/ Arbor press

4 T BT i M T IS FIr B2

What is the volume of a sphere having radius 4 mm?

(W) 256 r/3mm? () 64 7/3mm?
(¢) 320 7/3mm? {d) 128 /3 mm?
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10.

11.

12.

Fefafes Foacyd &I &1 39T g7

What is the use of catalytic converters?
(a) AT W FIF0T T@AT &/ Control noise

(b) Icdold X ATF9T W@dT &/ Control emission
(¢) dmaEE HAaET @ar & / Control temperature
(d) 'é?.l?f &1 W9d 9 [FIA9T TWAT &/ Control fuel consumption

R134a & 9&N FT —— ¢l

R134a is a type of

(a) oF Fel3s / Brake fluid (b) efrrers / Coolant

(c) ﬁm/ Lubricant (d) 9 / Refrigerant

185 °F &I 30 YR 2T ST TFAT &

185 °F can be represented as

(@) 100°C (by 358K

(c) 8K (d) 358°C

TDC 3#R BDC & 7fd & W fwesy garr faranfa smgast & ————— &g S7ar 2
Volume displaced by piston when it moves from TDC and BDC is called

(a) 3Radft #ET/ Constant volume (by TTurgs &Y &1/ Displacement volume

() TRl &1 AT/ Clearance volume (d) & HET/ Swept volume

ot & g At @ 9R A1 &9 F F Qv e sgaer frar sran g2
What is used to reduce noise from exhaust gases in an engine?

(a) IRF FAgeT/ Catalytic convertor (h) freeT / Filter
(c) WAHS / Muffler (d) & 9189/ Tail pipe

garagFa Mo qomelr F, yAfRe area @ FAAT AT 82
In a pressurized cooling system, where is the thermostat valve fitted?

(a) ST 99 & F I3Ta 9T/ Water outlet of water pump

(b) T & JAF WT3¢AT W/ Water outlet of radintor

(¢ TSt 82 & Y & 3T3ceie W/ Water outlet of cylinder head
(d) diex SAHe F Fied H3cale W / Water outlet of water jacket
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13.

14.

15.

16.

17.

18.

ag wfrar Fa @ & BE carr dod e F Aleg Jsee & Sifwass (NOy) & ARget
(N2) 3R gy (H:0) § sear fear sar 872

Which is the process by which oxides of nitrogen (NOx) contained in diesel exhaust are reduced
to nitrogen (N2} and water (H20)?

(a) aredeRoT 3cHsiel f@4a0T / Evaporation emission control
(b) TIATCHF 3cUd HUATA / Selective Catalytic Reduction
(¢) HF FT IeHod [ F0T / Crank case emission control
(d) OFRRT Sea Fec / Diesel Particulate Filter

$ery RARIoT AR FewmHe aRde fr RufaE F eTEe FARaT F iR & e S
¥ ITET g b1 MAfar i A A ————— HeT A gl

The ability of the bearing to adjust to the conditions of crankcase distortion and crankshaft
warpage and conform to the journal at all times is termed as

(a) * AT ¥fFd/ Fatigue Strength

(b) wFfETET / Embeddability

() FSHT ATlhdr / Thermal Conductivity
(d) HeJ&al / Conformability

mwlomﬁmaﬁamHﬁmwm%,mmmﬁmﬁaﬁﬁa
ANE — 1 g=10 m/s?|

When we lift a 10 kg mass at a height of 3 meter, the potential energy of the mass becomes
: Consider g = 10 m/s”

(a) 300d b 30J
{¢) 90J (d) 250J
Rra AT HT 59AT —— A F faw ar sar g

Feeler gauge is used for measuring

(a) T3=aT / Radius

(by 9T T/ Screw Pitch

(¢) Terdsl HEN & €T W / Gap between mating parts
(d) <=IT/ Diameter

TS Tg@ 1 394 Rras A & T B smar g

Bourdon tube is used for the measurement of
(a) dT9HTT / Temperature (b) ST FX/ Fuel level

(c) Ea19/ Pressure (d) argar $r afad/ Vehicle speed
fefaf@a # & Fia & 7o afar a8 g7

Which of the following is not a fundamental quantity?

(a) GHY/Time (b) S/ Length
(t) @7/ Angle (d) d9ATT / Temperature
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19.

21.

22.

23.

24.

25.

U FFNAA 303 o ———— H FAlT Il &

A compression ignition engine operates in

(a) ¥ I/ Rankine cycle (b)  ®T TFH / Brayton cycle

() 3roted T / Diesel cycle (d)  30er @ / Otto cycle

UF 0T A g @ v A # a7 f i i gf FEeITe B
The distance through which a screw thread advances axially in one turn is called

(a) Tar #1 9/ Pitch of thread (b)  TS¥ & NS/ Lead of thread

(c) gZr #1 IEUS / Depth of thread (d) ¥ &1 ¥/ Diameter of thread
4a® + 28a FT AOTAGSA ST §

The factorization of 4a® +28a gives

(8) 4a(a+7) ()  4(a®+28)

() 4a+7) (d) 28a

S FS aE] FaAT T F gL A IR IR & A 3w HoT Sl |
When an object falls freely towards earth, then its total energy

(a) &adr &/ Increases

(b) HH g AT £/ Decrcases

(c) &R @ 8/ Remain constant

(@ U Fdr ¥ BT e &/ First increases then decreases

RRART & ¥ FlF T 3vor S99 & a9ART & HUR 9v IBrer F AIH ¥ 33 U &
vag @ Haffa &ar g2

Which of the following device controls the flow of cooling water through radiator based on
engine temperature?

(a) 9F¥9/Pump ' (b) THT da¢/ Timing belt
(¢) ¥HFEEE/ Thermostat (d) F&a/Clutch
e Al & T oiF HIoT 41 §7

What is the spray cone angle in the Pintle nozzle?

{a) 15° (b) 25°
(c) 45° (d 60°
fordl 8T & HTITAT FT AT HTHT FHEear Bl
The measured size of the dimensions of a part is termed
(a) dEdTgs HTHI / Actual size (b) ATHAY IHTHI/ Normal size
(c) HA ITHIT/ Basic size (d) FHE 3TER/ Allowable size
6 1495



28.

29.

30,

31

B P

& 3N aF WA AT AT Fhar g

Resistance can be measured using

(a) dTcHIEYT / Wattmeter (by  dreeHIET/ Voltmeter

(¢) UHRT/ Ammeter ()  3EAEY/ Ohmmeter

HR F ATHA IR IF ——————— F AGAA ST &)

The temperature indicating instrument in a car indicates the temperature of

(a) FoteT fA¥ce / Engine piston (b) Sod BelsT/ Engine eylinder

(c) Ta&a1S del/ Lubricating oil @  Fa® / Coolant

fees @@rT TDC & BDC & BDC & TDC &F aF # 715 gl gl

The distance travelled by the piston from TDC to BDC or BDC to TDC is

(a) &ET ATAT/ Swept volume (b)  HTETd / Stroke

(¢) TH/ Cycle (d) Hf@cdRor 39T / Compression Ratio

BT F ¥ g fves 88 & 393909 3wT §Nsd ST S5 H fRaT Siar g7
Which of the following piston heads is used in high compression diesel engines?
(a) wAC g5/ Flat head (b)  EESR &3/ Domed head

(&) 31add g5 / Concave Head (d) FEEr &8/ Cavity Head

IfE e 39T @1 PRl AT 90 em? § AR farenfa s3maae 810 em® B, Y Idise Heyara
gl

If the clearance volume of an cngine is 90 cm3 and the displacement volume is 810 cm®, then
the compression ratio will be

(a) 9:1 (b) 10:1
(¢ 1:9 (d 1:10
Sofel ¥ FI-HBCIE T AT-3A9E & WY gfded F erwd e ————— ¢

The ratio expressed in percentage of work output to the heat input in the engine is
(a) Ta&rdT &1 AT/ Clearance volume

(b) TP E&IAT / Mechanical Efficiency
(¢) GRACHETOT T / Compression ratio
() M 39T / Thermal ratio

Prafafaa & @ Fa oga A Y & o 7@ urg $1 FeaeT g §?

Which of the following joining methods result in the fusion of the parent metal?

(n) &9/ Riveting (b)  aAfesa/ Welding
() &f39T/ Brazing (d) TFe Hr forar/ Soldering
7 1495



33.

34.

35.

36.

37.

38.

39.

1cmagm£réaréarﬁm1§ﬁsia’ﬁahw%
Area of the equilateral triangle of side length 1 cm is

(a) V374 cm? (b) 1/2cm?
{c) J3/2cm? (d) 1 ¢m?

25cm @ 2m T IS FAT 87
What is the ratio of 25 cm to 2 m?

(@ 1:8 by 2:4

¢y 8:1 (d) 1:2

UgIel T JArEfAE T F B2

What is the chemical formula for Petrol?

(a) C7Hise (b) CsHis

(c) CsHzo (d) CioHz

HTHAERT § HAGR W SEIRT fhar s arer wénhio Reast gl

The commonly used antifreeze solution in automobiles is
(a) FTEA STSAEHISS / Carbon disulphide

(b) ZUSle TAEHIA / Ethylene glycol

(c) IAAIA FARSE / Ammonium chloride

(d) SFITA-12 / Freon-12

B[t ABC # ~BAC=90° 3R AB=BC/2§ d #oT LACB gram|
In Triangle ABC, 2 BAC = 90° and AB = BC/2. then the measure of angle ZACB is
(a) 45° {b) 60°

(¢ 15° (d) 30°

ey 9% F7 Ao &

Otto cycle consists of
(a) & wiaadr mﬂ' 3ttt & 9fagdl ¥€IsH / Two reversible isochores and two reversible

adiabatic
(b) ar wfdadl gxamg T 2 ufaadt ¥AEE / Two reversible isotherms and two reversible
1sobars

() a uidadt ysEeEd Mk @ wRAadt 3ngEER / Two reversible isochores and two
reversible isobars

(@) @ gigadt HEEER 3T @ ufAadl TE™H / Two reversible isobars and two reversible
adiabatic

Aagr aRsaoT & AT Pe=fafla § O frg afear &1 39T fRar S 87

Which of the following processes is used for surface finishing?

(a) 3R &5 / Shaping (b) SR/ Broaching

(¢) WY/ Lapping (d 3I9aEd @/ All of the above

8 1495



40,

41.

42.

43.

44,

45.

46.

afg, L= Ay # wiF 1 #4915, D = #Aey 7 e &1 e7m, N = 3RAA 7 a1 $Hr goff

afy, freesr & sitea Ifew ofdy —— oy gl

If, L = Length of stoke in meter, D = Diameter of Piston in meter, N = rotational speed of
engine in rpm, the average linear speed of the piston will be ——— m/s

(a) 2LDN/60 (b) 2LN/60

(¢) 2z LND/60 (d) 2z LN/60

ARAI &I 3 § ——|

ARAI stands for

(a) Automotive Registration Association of India
(b) Automobile Regulatory Authority of India

(¢) Automotive Rescarch Association of India
(d) Automobile Registration Agency of India

fafaf@a & — U deifas IR & A Goa A F A el & v mwfass g
Following is the theorctical size which is common to both the parts of a mating pair?

(a) IHFE HHR / Normal Size (b) aFIfIF PR / Actual Size

(c) 3R 3T/ Base Size (dy IRFT G/ All of the above

FH AHIT Yed IHS STl S HA U HA 87

How do we achieve near zero emission diesel engine?

(a) PCV 3R EGR &1 &iF€r / Combo of PCV and EGR

(b) EGR 31X SCR @& #FaT/ Combo of EGR and SCR

(¢) DPF 3R KGR & &iFar/ Combo of DPF and EGR

(d) PCV 3t 3.7 $Rfafeew =19« & HIFET/ Combo of PCV and 3 way catalytic connection

A @AfRaa s & AT T A 6 38 aafad AT A Peear & B &

gT oar gl

The degree of closeness of a measured value of a certain quantity to the true value is known as
(a) HEF / Standard {b) 3FETHT / Precession

{c) ggar ! Accuracy ' (d)  HdeAdr / Sensitivity

TH g # 80m 39 ¢aT & I F 10 m/s F 397 ¥ & 7 § 1 F1ar g $8F FHG 9
TR H ST AT AT RSA g = 10 m/s?

A ball is thrown horizontally from top of an 80 m tall tower, with a velocity of 10 m/s. Find the
time taken by it to hit the ground. Consider g = 10 m/s?

(a) 4s (b) 8s
(c) 3s (d) 10s
T e A & 9gFT 2

Airbag inflation systems contain

(a) WFIH TAEES / Sodium Azide

(b) SISt / Nitrogen

(¢) 9RfAGH ASLE / Potassium Nitrate

(d) WfzIR vonss AR MR AEee &1t/ Both Sodium Azide and Potassium Nitrate

9 1495



47.

48.

49.

50.

51.

52.

53.

54.

ZaTg Y A gl W HTHAR W R 391 wa: feafeaa & o &

Air Bags are usually deployed in case of collision speed of about
(a) 20 km/hr (b) 40 km/hr
(¢) 60 km/hr (d) 80 km/hr

Taeh 3femee goia # 8RR Afd F HTER arg/dus Baor i Ann & daga e
ZarT & A §

The metering of the air/fuel mixture quantity according to the load and speed in spark 1gnition
engine is done by

(a) eI/ Carburetor (b) T TolaT/ Spark plug

(¢) % d9iC/ Exhaust port (d) seTele 9/ Inlet port

e a:b:e=5:4:9 & A (a+ byc):e @1 AN ——— gl

Ifa:b:c=5:4:9, thenthe ratioof (a+b+¢):c is

(@ 5:4 () 9:2

() 2:1 (d 1:2

TH S Ao IR F fasrel 3IcuesT ar Bl

A fuel cell produces clectricity from and :

(a) USIH/ITFEIS / Petrol/Oxygen (b)  ETSSIA/3HTFES / Hydrogen/Oxygen

(¢) SBEAA/HTFASA / Nitrogen /Oxygen (d)  9h/3iTedstat / Water/Oxygen
TS GOl T FolidW dlcgdl 100 cm?® AN F& dlcgH 800 cm® Bl HHSA He[drer &

An engine has a clearance volume of 100 cm?® and a swept volume of 800 cm?®. The compression
ratio is

(a) 7:1 (b) 8:1

(cy 9:1 (@) 10:1

AT 39T & FE H ACITH ————

Working medium of a pneumatic tool is

(@) THE FT I/ Kerosene () 3/ Air

(c) T/ Water (d dd/0il

Tes FoaRaT & g e e F TH HTBT TG ¢

A shaft rotating in a bushed bearing is a good example of

(a) Tomzf3er fhe / Sliding fit (b) zEfaer e/ Driving fit
(@ 9 fhe/ Push fit (d) 91 e/ Running fit

g 9T OES IR A oAy ¥9 ¥ TUdgR Al T, Feadar § ————— |
The limit beyond which the material does not behave elastically is known as

(a) 3grfas HAT/ Proportional limit (b) SconfEes AT/ Elastic limit
(c) venfeesh HIAT/ Plastic limit (d) wHa fdg/ Yield point

10 1498
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56.

57.

58.

59.

60.

i1,

faby |

gf F 9 H gE 6 W 3 A A A frw wor & g 87

Through what angle does the hour hand of a clock turn through, when it goes from 6 to 37
(a) 90° (b) 180°

(c)y 270° (d 360°

S5 TS ¥ K dTF 3189 U dF STl & TR @ Fawe IR AT e
& T 399 A e e 39—

The device used to connect and disconnect transmission of power from the engine flywheel to
the gear box drive shaft is

(a) &=/ Clutch (o)  T&T/ Flywheel
(c) T/ Starter (d) 9% /Brake
TR e geTH ——————— B

In a four wheel drive, there is {are)
(a) IS AT TFAd A/ No live axle (b) U ST TFAA / One live axle

(c) & vmEd uFHd / Two live axle (d) UH 3T A/ One dead axle
FsHiT AW & TS E |

The unit of calorific value is

(a) ﬁﬁﬁa‘\ﬂ/ kilojoule (b) S/ joule

(c) %?-ﬁa‘\?-r/%ﬂam ! kilojoule/kilogram — (d) RFeran# / kilogram

U S WHE A Tl A Gl IR H UF @@ A Faia &Em|
A hollow shaft of same cross section area as compared to a solid shaft will transmit
(a) oI Zi% / Same torque (by &HA Tl / Less torque
(c) 30 2iF / More torque (d  39eaRa / Unpredictable
o ¥ AfFd IR F FIF FA G STHOT FHY HEr ST &1
The device for smoothening out the power impulses from the engine is called
(a) oo™/ Clutch (b)  UFHT/ Flywheel
(¢) TaTes/ Piston d o gf@ca® / Torque Converter
ey 3aRa FOT &, auee # oleda $ FRoT —— 7 aRade gir B
In thermistor based sensor, —— changes due to change in temperature.
(a) AT/ Capacitance (b) WA/ Resistance
(¢) T WOT/ Self Inductance (d) AT W&Fcd / Mutual inductance
11 1495




62.

63.

64.

65.

66.

67.

68.

TF Itiged # A — —— 330 &7 For I B

The diameter of a semi-circle subtended an angle of ———— degree.
(a) 30 (b)y 60

¢y 90 (d) 180

g% °UTHh Sl IR 3F & Fweed & SIS g, — gl

The component that connects the steering rack to the knuckles is

(a) VFeT T/ Sector gear (b) T8 TS/ Tic-rod

(¢) 9Zr/Spline (d) W! Pivot

SAFTRITA T 397 b AR =t & o BFa wovr & HiTamss a3 #1 394 frar smar &2
Which type of fire extinguishers are used for controlling flammable liquid fires?

(a) H@ W35V §3¢IF—T areT AF / Dry Powder extinguisher

(b) FTHAHF TF / Water extinguisher

(¢) g HFME I3/ Halon extinguisher

(d) CTC 3FAMAF IF/ CTC Extinguisher

FEAT AEAR AR gl 7 HAfd 2 & @w fNor T ik sisfes fem & @ Seafafaa
F O frgdr amaersar g 27

Which of the following is required between the ring gear and the oinion gear to allow for heat
expansion and lubrication?

(a) &</ Hole (b) WJ/Shims

() €99 /Backlash (d) 8L/ Pits

TF 12 V @3 tfls & & HiaR® 9T 001 Q § Sl oft-ufde 8 w frgar @i
gatfga gem

A 12 V lead acid battery has an internal resistance of 0.01 Q. How much current will (low
when battery is short-circuited?

(a) 1200A (b) 600 A
(c) 12A (d) 5A
ﬁmﬁﬁaﬁ#mwwmﬁ LA g T 8T & wdi?

Which of the following cannot be sides of a right triangle?

(a) 5cm, 12cm, 13 cm (b) 2cm, 2cm, 4 cm
(c) 6cm,8cm, 10cm (d) 3cm, 4 cm, 5cm
A" # DFI &7 Ade« &
DFTI in automobiles stands for
(a) Diesel Fuel Injection (b) Dual Fuel Injection
{c) Direct Fuel Injection (d)  Diesel Filter Internal
12 1495




69, FX & Yol F FE 35 &1 997 Fr FEar 87

Which acid is used in car batteries?

(a) wEfeEw il / Citric acid (b) Hq:?vi{\ﬁ'ﬁ? vf&3 / Sulphuric acid
(¢) =m8feeEd uiAs/ Nitric acid (d) vHifEE HFe/ Acetic acid

70, aE=l &Y 88 oige § FE UHR F 4o &1 gAeT FRaAr Jrar g2

Which type of mirror is used in the head lights of vehicles?

(a) HAdEI/ Concave (b)  3Udced TSR HI/ Parabolic
() 3cdd/ Convex () @/ Plane

71. SAATS HT IYAET FFNLA SFAAA ST I A& har F1ayw &, FAiH
Ethanol is not used in compression ignition engines, because
(a) &&H&I st &Y HOF Bar B/ 1s octine number is high
(b) TEH et FEAT FA BT €/ [ty cetane number is low
(c) 9§ EGF-T F BEgr & BT g8 &/ 1L is corrosive Lo engine parls
(d) ITHRT Foler w@rsT FAT §/ s Mash point s high

72. FIEH T WIH B FO & IgS SAeiehl g

Spark Plug fires shortly before the stroke.

(a) RTAR/ Expansion (h) Z41d / Compression

() waAA/ Intake (dy  TA&EE /7 Kxhaust
73. it IE TS 6 Ve AT dlr 1 Far g qar wiRw?

What should a fully-charged 6 cell automotive battery imdicente?

(a) 12V

(b 126V

() 32°C W faferse BT 1,297 The specilic gravity ol 1,29 at 32 °C
(d) 32°CW 12.6 V fafdse T 1.29/12.6 V and the specific gravity of 1.29 at 32 °C

74. foreea 3R waEdw & afT F @9y A 1C 5o A drcal 1 goA AR 9 g
AT &l

The opening and closing of the valves in an 1C engine in relation to the movement of the
piston and flywheel is called.

(@) ®E&r AT/ Swept Volume (b) arFd AT/ Valve Timing

() diay ¥el& / Power Stroke (d) EfercdeeT 191t / Compression ratio
75. T T HT 9gT el §

Reach of a spark plug is

(a) TaTea #3T & g 3R a3s sAacis & 9 EST/ Distance between the top of piston

crown and ground electrode

(b) Fe sAFCIS A wa5 / Length of centre electrode

() T ol A3 & Ha R corer i difeler wag F i # g/ Distance between the end
of the spark plug threads and the sealing surface of the plug

(d) &g o=z AT a3z gdwes & @iEr 37dT/ Gap between the centre electrode and ground

electrode

A 13 1495




76. UH I & T 20 mm &, A F OTGA AT 272

A sphere has a diameter of 20 mm, What is the surface area?

(a) 100 mm? (b) 400 mm?
(¢) 20 mm? (d) 300 mm?
77. & forT adfe g fr gerar wf@was g B

Efficiency of a Carnot cycle is maximum for

(a) T & TG 547/ Gas engine
(b) wfdadl 397/ Reversible engine

(c) UG 51 / Petrol engine
(d) ¥ T/ Steam cycle

78. I IC ot H RN arg arvarrT sgar ¥, & e ——— |
If the intake air temperature of IC engine increases, the efficiency will

(a) ¢ / Increase (b) @& W}/ Remain same
(¢) 39T el / Unpredictable (d) =&/ Decrease

79. TDC ¥eg #1 TR, [SEar 39T 30 Al g8 Soter & e oar &
Expansion of the term TDC, often used in Internal Combustion engine

(a) %ol faTUTIT &THAT/ Total Displacement Capacity
(b) o aqd Fg/ Top Dead Centre
(c) MY RFUMIT &THaT / Top Displacement Capability

(d) TR v aﬁl Tyre Displacement Centre

80. ST AR & AR BT B

A fuse wire is a wire of

(a) A A IR FA AT / Both low resistance and low melting poing
(b) FA 9T iR I=T 1d4IF / Low resistance and high molting point
(¢} 3T 90y HR 7 941 / High resistance and low multing point

(d) 3T A 3R 3T 79491F / Both high resistance and high melting polmt




